
separate out: 9. ..., Kb4 10. Sd5 +
(Se4? Bd4; draws) 10. ..., Kb5 11.
Sc7+ (Rc2? Bd4; draws) 11. ..., Kb6
(Kc6; Se6, Se2; Rxc5 + , Kd6; Rc2)
12. Rc2 (Se6? Se2; Rxc5, Sf4 +
draws, or instead of Rc5 +, Rc2,
Sd4;) 12. ..., Se2 (Be3; Sd5 + , or
Bd4; Se6, Be3; Rc3) 13. Sd5+ (also
Sa8 + ) 13 Kc6 14. Sb4+ (Se7 + ?
Kd7; Rxc5, Sf4+; K-, Se6;) 14. ....
K- 15. Sd3 wins. The other 9th move:
9. ..., KbS 10. Se4 (Sd5, Se2;) 10. ...,
Bd4 (Be3; Rel, B-; Sf2, or Ba7; Rc2,
Kb4; Sf2) 11. Sd6+ (Rc2? Kb4;
draws) 11. ..., Kb6 (Ka5; Rc2) 12.
Rc2 Ka5 13. Rd2 (Se4? Kb4; draws)
13. ..., Ba7 (Be3, b6, c5; Sc4, b7 + )
14. Ra2+ Kb6 15. Kxgl or 15. Sc8 +
winning. 9. Re4. Not 9. Re8(?) Bd4
10. Sg4 Bc5, which is the starting out
Position, nor 9. Re6 + ? KbS 10. Se4
Se2 11. Re5 Sf4+ 12. K- Sd3 draws.
9. .... Kd6. The best. 10. Re8. wR is
obliged to return to his first square,
for if 10. Rel(?) Kc6. 10. ..., Ba7.
Best.
11. Sg4. And wS also comes home. If
11. Rd8 + ? Ke5, or 11. Se4 + ? Kd5
12. Sf2 Bxf2, or 11. Ra8? Bd4 draws,
or 11. Rel? Kc6 12. Sg4 Kd5 13. Ral
Bd4 14. Ra2 Kc4 15. St2 Kb3 16. Rd2
Bc3 draws. Now, after 11. Sg4, W
has repeated the initial Position of his
pieces and has transferred the move
to Bl, after which W wins according
to variations already given: 11. Kc6
12. Rc8+, or 11. ..., BcS 12. Rd8 + .
W has spent 5 moves repeating the
Position, while with the move 5. Ki'2
the Position of Zugzwang for Bl is
reached immediately.
In K4 we find a "type 2" blockade of
bS. 1. Kg2. 1. Rg3? Sf2 draws. 1.
Rh7? Sgl+ draws. 1. Rb7? Sgl + 2.
Kg2 Be3. 1. ..., Sgl. l Sf2 2.
Rb7 Be3 3. Kf3 Kd2 4. Rd7+ Sd3 5.
Ke4, or, in this, 3. ..., Sdl 4. Ke2
Kc2 5. Rc7 + . 2. Rg3 + . And not 2.
Rb7? Be3. 2. ..., Kd2. If 2. ..., Kc4
3. Sf4 Bc5 (Bc7; Kxgl, Bxf4; Rg4) 4.
Kfl Ba7 (Bd6; Rxgl) 5. Sd3 Bb8 (B-;
Sf2) 6. Sb2+ K- 7. Rxgl wins, while

if here 3. ..., KbS 4. Rb3+ Kc6 (KaS;
Kfl, BcS; SdS, Ka4; Rg3 and Se3) 5.
Rb2 Bd4 6. Rc2+ KbS 7. Sd3 and 8.
Sf2. 3. Kfl. Now bS really is isolated,
for if 3. ..., Se2 4. Rg2. In the
present case wR takes away the
squares h3 and f3, and wK the e2
square. This is what we are calling
"type 2" blockade. Now W has to
Interrupt the action of bB by playing
wS to the f2 square, but there is only
one way to achieve this, via the e4
square and with check! Indeed, if
for example at any time Sg4-t2? Bxt2;
Kxf2, Se2; draws, but if W can play
Se4±, Kdl; St'2 + , Bxf2; Kxf2, Se2;
Rd3+ wins! So we see that the
strategy of the further play in the
solution is that wS hastens to the
invasion square e4, and B l puts
obstacles in the way. 3. ..., Be3.
Restricting wS and also threatening 4.
..., Kd3 followed by 5 Se2 (Ke4).
4. Sg7. Not 4. Sd8(f8)? Kd3 draws.
Nor 4. Sc7? Bf4 5. Rg2+ Kd3 6. SdS
Sh3 draws, while if 6. Se6 Be3 7. Rg3
Se2 draws. 4 Bd4. 4. ..., Kd3? 5.
Sf5. 5. Sf5. The try 5. Se8!? deserves
special attention, which it will have
(see K7). 5. ..., BcS. Preventing 6.
Sd6. 6. Sh6. Not 6. Rb3? Ba7 7. Sd6
(Sg3, Kc2;) 7. ..., Kc2 8. Rg3 Bb8
draws, äs do 8. Ra3 BcS and 8. Rb7
Bd4. There is a loss of time, with
artificial Prolongation of the solu-
tion, after 6. Sh4(?) Be3 7. Sg6 Bd4
8. Se7 Be3 9. SdS Bd4 10. Ra3 BcS
11. Rb3 Bd4 12. Rg3 BcS 13. Sf6 Bd4
14. Se4+ and 15. Sf2( + ). 6. ..., Be3
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